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NOTE: Attempt any FIVE questions. All questions carry equal marks. Attempt at least
TWO questions from each section.

SECTION |
G.. 1. From the following frequency distribution find Median, Mode and Coefficient of Skewness
Weekly Earnings (in Rs) No. of Workers Weekly Earnings (in Rs) No. of Workers
0-50 3 ‘ 200 - 250 21
50-100 7 250 -300 12
100 - 150 12
150 - 200 18 _
Q.2. The price and quantities of four commodities in years 2005 and 2012.
| Years A B C . D
Price Qty Price Qty Price Qty Price Qty
2005 17.00 135 15.36 214 i5.18 191 99.32 161
" 2012 27.52 369 29.59 247 14.46 227 96.17 186

Compute Laspeyre’s, Paasche’s, Fisher’s index number of prices for 2012.

‘Q.3. From the following data Calculate Co-efficient of co-relation, regression line Y on X and also
comment on answer.

16 72 73 63 83 80 66 66 74 62

40 52 43 - 49 61 58 44 58 50 45

Q: 4. A population consists of five numbers 8, 12, 16, 18 and 20. Take all the possible samples of size 2,
without replacement from this population. Find the mean of all samples. From sampling distribution

of these sample means.

Calculate: ‘ :
(i) The mean and standard deviation of the population
(ii) The mean and standard error of the sampling distribution of X'2. :
4eis . s b : = g
(iii)  Verify the results. u 2= Al A G*_ = g; L IN=Y)

SECTION - I g

;5. (a) Find the sum of infinite Geometric series 5+ 5/6 +5/36+.........00

{(b) Which term of the sequence 16, 8, 4,2, ........is 1/16.
Q- 6. (a) Solve \/5x+4~ \/3x+1 =]
(b)SoIve forxandy.
- ' Sx+4y =7
3x—4y =17
1 1 1 :
Q7. If A= [1 =17 2 \ then obtain A™%,
A 2. 3 -1 :

Q- 8. What semi-annual payment is required to pay off a loan of Rs 8,00000 in ten years if interest is
16% compounded semi- annually
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Instruction: Attempt any FIVE questions. All questions carry equal marks. Extra
attempt of any question will not be considered.

Q.#1: Define Network topology? Also discuss different types of topologies
with the help of diagrams?

Q.#2: What is internet? What are the advantages and disadvantages of internet
with respect to business?

Q.#3: Discuss important features of MS-PowerPoint with examples.

Q.#4: Explain three levels of data processing with relevant examples.

Q. #5: Differentiate characteristics of Local Area Network (LAN) with Wide
Area Network (WAN).

Q.#6: What is the difference between primary and secondary storage? Explain
different primary and secondary storage devices.

Q.#7: " How formulas and functions can be used in MS-Excel? Give examples
of different formulas by using proper syntax.

Q. #8: Write a note on followings:

a. E-Commerce

b. Home Page of a Web Site
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Subject: Economics ' TIME ALLOWED: 3 hrs.
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NOTE: Attempt any FIVE questions. All questions carry equal marks.

Q. #1: Show with the help of indifference curves how a consumer reaches equilibrium?  (20)

Q. #2: Explain the determination of price and output under Monopolistic competition in

the short run and long run. (20)
Q. #3: Critically examine the Marginal Productivity Theory of Distribution. (20)
Q. #4: Describe the importance of Zakat and Usher. (20)
Q.#5: How caﬁ NATIONAL INCOME of a country be measured. (20)
Q. #6: Given the total cost function of a firm: (20)

TC=85+150-20%+20°.
Find: (i) Marginal Cost Function.
(ii) Slope of MC
(ii1) Slope of AVC

(iv) Is this a short run cost function?

Q. #8: Define and explain the following: : | (20)
(i) Price Elasticity of Demand. -
(ii) Income Elasticity of Demand.
(1i1) Cross Elasticity of Demand.
(1v) Point Elasticity of Demand.

Q.#7: Critically examine the Ricardian Theory of Rent. (20)
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NOTE: Attempt any FIVE questions. All questions carry equal marks.
QuestionNo: 1

On 1% January , 2015 Mr. Irtaza sold goods to Mr. Murtaza for Rs. 60,000. Murtaza paid Rs.12,000 in

- cash and accepts three bills for balance .The first bill for Rs.14,000 at one month the second for -

Rs.16,000 at.two months and the third for Rs.18,000 at three months .

Irtaza endorsed first bill to Behzad his creditor on 2" January in full settlement of Rs.14,200 ;
discounted the second bill at his bank for Rs. 15 840 and retained the thrrd bill till maturity .

The first bill is met at maturity. The second bill is dishonored and Rs.100 being paid as noting charges
. Irtaza charges Rs.300 for interest and draw on Murtaza a forth bill for the amount at three months.
At maturity the third bill was renewed with the interest of 10% p.a for three months. The fifth bill
was duly accepted by Murtaza .The fourth and fifth bills were met on maturity.

Required:

Give journal entries in the books of Irtaza and prepare Murtaza’s account in Irtaza’s books .

| Q.2 Prepare a Bank Reconciliatioh starement as on 31st December, 2005 from the_following partlculers.

vi.

i

Bank balance as per the Cash Book on 31st Dec. 2005, Rs. 57, 000.
Cheques for Rs. 7,000 deposited for collection but not credited by the bank prior to 315t December, 2005:
Cheques amounting to Rs. 18,000 were issued on 28th December, out of which cheques for Rs. 15,000 were cashed up
to 31st December, 2005. - ’
A wrong debit of Rs. 700 ‘appeared in Pass Book.
. Bank charges Rs. 420 appeared in the Pass Book but not'in the Cash Book.
Interest on investment collected by the bank not yet recorded in the Cash Book Rs. 2,500.

Q.% The following balances are obtained from the books of Mr. Salman as on 31% December, 2012 and 31" December, 2013.

' 31-12-2012 | 31-12-2013

' : : Rs. Rs. .
Sundry Creditors ' . ' : , 110,000 - °75,000
Furniture and fixture - - : "~ 46,000 .- 63,000
Office Equipment C B o 48,000 © 47,700
Outstanding expenses _ - 2,500 - 5,880
Motor Truck ' . ' | - 47,000 37,600
Cash at Bank ' ' 45,000 38,000
Sundry Debtors 80,000 85,000
Stock in Trade - _ 25000 37,500
Bills payable . R ' 19,000 5,000

The following information is relevant for the year 2013.

a.

b.
C.

-

Cash drawings during the year amounted to Rs. 15,000 and goods costing Rs. 6,000 were taken by Mr. Salman for his

- personal use. : ' '
One sales invoice amounting to Rs. 5,000 dated 1-10-2013 was omitted in books.

Write off 6% from sundry debtors.

You are required to show by means of a statement as t6 how would you arrive at the Net Profit for the year ended 31*
December 20130 '
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Q. 04. Following is the Trial Balance of Sialkot Trading Co. as on 31st December, 2005. You are required to prepare Tradin

. profit and Loss A/c of the business for the year ending 31st December, 2005 and a Balance Sheet as that date.

Details o Debit Credit
: "~ Rs- . Rs- -
Opening stock . ' : | 30,000 , ‘
Purchases and sales - : _120,000 300,000
Sundry debtors and creditors ' , ' 90,000 19,500
Plant & Machinery - : B - | 105,000 :
Freehold premises . 72,000 -
Bills receivables o 6,000
Salaries s 15,000
Wages. o 18,750
Carriage inward ' 975
Carriage outward 1,125
Printing and stationery 1,200
Bad debts © 1,500 i
Provision for bad debts 0 675
Trade expenses o _ 2,250 )
Cash at bank ' » S,000
Cash In hand ’ _ ' 750
Capital ' ' , 150,000
Bills payable - 4,875
Insurance _ - 1,500 '
o _ 475,050 475,050
ADIUSTMENTS: :

- 1. Outstanding wages Rs. 1,500.
Prepaid Insurance Rs. 600.

Write off depreciation at 5% on Machinery.

Create Provision for discount on creditors at 3%.
Bad debts provision to be adjusted to 2% in Debtors.
Allow interest on capital at 5 %

Closing‘ stock valued at Rs. 45,000.

NoOuvswN

Question No. 05

Waqas Jamil, Dilbar Hussain and M. Usman trading in partnership and sharing profit and losses in the

proportion of %4,1/3 and 1/6 respectively agree to. take Irtaza in to partnership o the following terms:
a) Irtaza should be given ¥ share and should bring Rs 10000 as goodwill and 1,28,000 as capital.

b) A reserve for bad and doubtful debts should be created at 5%.

¢) The value of the land and building should be brought up to 620,000.
d) Stock should be taken at Rs 2,61,000.

€) Machinery should be revalued at Rs 61,600.

The following is the balance sheet of the firm of the Waqas Jamil, Dilbar Hussain and M. Usman on the

date of Irtaza admission.
Balance sheet As on 31-12-2015

Assets 7 Rs. , Liabilities -
Cash in hand 8000 . Sundry creditors

. Debtors 2,52,000 Partners capital:
Stock 290,000 Wagqas Jamil 5,70,000
Machinery 70,000 ‘Dilbar Hussain 3,20,000
Land and building 4,80,000 M. Usman 1,60,000
10,50,000 .

Reserve Fund
" Total 11,00,000 :
' Required:

Pass journal entries in the books of new firm keeping these arrangements in view
accounts, balance sheet of the newly constituted firm and new profit sharing ratio.

Rs.
38,000

120,000

11,00,000

and show the necessary

g and

<)
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of 3/4t and 1/4t. The Balance Shect on 31st December, 2004

Q. 6 Amir and Babar share profits in the proportion

as as follows:
Xs;:t: Rs. Liabilities RS. j
- Cash at Bank , 45,000 | Sundry Creditors 83,000
Bills Receivable 6,000 | Amir's Capital 60,000
Debtors 32,000 | Babar's Capital 32f000
Stock - 40,000

Fixtures 2,000

Buildings. 50,000

On 1st January, 2005 Jamal was admitted into partnership on the following terms.

- That Jamal pays Rs. 20,000 as his capital for a 5th share.

That Jamal pays Rs. 10,000 for goodwill. Half of this sum is to be withdrawn by Amir and Babar.
That the capitals of Amir and Babar be adjusted on the basis of Jamal’s Capital. .
That stock and fixture be reduced by 10% and a 5% provision is created for doubtful debts on debtors and Bills
Receivable. }

That value of buildings be appreciated by 20%.

That an item of Rs. 650 included in creditors is not likely to be claimed and hence should be written back.

Required: Prepare Revaluation Account, Capital Accounts and give Balance Sheet of the new firm.

Q.7 The following was the Receipts and Payments Account of Model Town Literary Society for the year ending 31
December, 2005. _
Receipts and Payments Account

Rs. Rs.
Balance b/d 500 | Rentand taxes 1,000
Entrance fees - 1,500 | Wages 500
Subscriptions 10,000 | Lighting charges 250
Life member’s fees _ 3,000 | Lectures, fees 1,000
Donations 1,000 | Books : 1,500
Interest on investment 100 | Office expense 2,000 ~
Receipts from lectures : 3,000 Fixed deposits (on 1.7.05@10%) 10,000 '
Furniture 2,000
Cash in Hand : ' 50
Cash at Bank 800

At the beginning of the year Society had the following assets: Books Rs.4,000; Furniture Rs. 1,000; Investment Rs.’

1,000. Subscription receivable at the beginning of the year was Rs. 1,000 at the end of the year is Rs. 500. Rent was
outstanding for six months (Rs. 500) both at the beginning and at the end of the year. Capitalize entrance fees and life
member’s fees. Depreciate Rs. 300 on furniture and Rs. 100 on books. Interest on fixed deposits was not yet received.
Required: You are required to prepare Income and Expenditures Account for the year ending 31 December 2005
and a Balance Sheet as on that date. ' ‘

Question noa":
Rectify the following errors by passing Journal entries;

(a) An amount of Rs.800 paid for installation of machinery was debited to the wages A/c .

(b) Salaries paid Rs.850 were debited to the salaries A/c as Rs.580.

(c) Goods sold to Murtaza for Rs.7000 were debited to Mujtaba A/C .

(d) A bill of Rs.5000 paid for owner’s personal use was \wongly debited to trade expenses A/c .

(e) Rs.51214 received from Ali whose account had already been written off as bad debts were
credited to his account. ’

(f) Goods purchased for Rs.4000 from Basharat Ali were recorded in the sales book .
(g) A sale Rs.7,000 to Mr Jawad was wrongly passed through the purchases book .

(h) A sale of Rs.14,000 to Kshaf Batool was wrongly passed through the purchases Returns book
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Subject: Functional English

PAPER: BC-305

MAX. MARKS: 100

Note: (1)

TWO

Q.#1:

Q. #2:

Q.#3:

Attempt FIVE questions in all. Selectin

UNIVERSITY OF THE PUNJAB

PART -1 A2016 &
Examination:- B. Com. f Roll No.

from Section — B.
(2) Over attempt will altogether be ignored.

3) Do not start the next / new questions,
/ present question, with all its parts,

will deprive you of your due credit.

SECTION - A

(A): Define the following with examples:

(1) Gerund

(i) Adverb  (iii) Complement (iv) Pronoun (v) Phrase

(B): Do as directed:
(i) Take care of your health. (Mood)

(i1) Fortune favors the brave.
(iii) Actions speak louder than words,

(Change into negative)

(iv) These grapes are tasting sour. (Correct it)
(Give the second and third forms)

(v) Strike

(A): Change the Numbers.

(i) Axis

(ii) Memorandum (iii) Bush (iv) Chimney (v) Leaf

(B): Change the Genders:

(1) Emperor

(i) Land-lord (iii) Duke (iv) Nun (v) Bachelor

(O): Give Antonyms:

(1) Restless

(ii) Shallow  (iii) Truth (iv) Vague  (v) Export

(D): Change into Nouns:

(i) Know

(ii) Act (iii) Vacant  (iv) Proud (v) Broad

(A): Insert Correct Articles:

(1)

a_____

(ii1) He is

bird in hand is worth two in _ bush.
poor are always with us.
honor to his profession.

(B) Insert Appropriate Prepositions:

(1) He acceded my request.

(ii) He abstains smocking.

(iii) He is involved difficulties.

(iv) I am obliged you your kindness.
(C): Use the correct form of Verbs:

(1) He (want) to be a doctor.

(i) Our guest (arrive); they are sitting in the garden.

(iif) When I was in Karachi, I (visit) many places.

(iv) WE (wait) for his call since morning.

(v) This paper (appear) twice weekly.

(D): Give One Word Substitution for each of the followings:
(1) A list of books.

(i1) Belonging to the same age.

--------------------

g THREE from Section — A and

until/ unless you solved the running
a, b, ¢ and d. violation of these rules

(10

(10)

(Change into interrogative)

®)
®)
®)
®)

®)

)

®)

&)
P.T.0.

TIME ALLOWED: 3 hrs.
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Q.#5:
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Q.#8:

(iii) A system with ranks and grades.
(iv) That which kills germs.
(v) No longer in use.

(A): Change the Narration: (10)
(i) The teacher says, “The ecarth moves round the sun.”

(ii) He said to me, “What are you doing?”

(iii) He shouted, “Let me go.”

(iv) He said, “Bravo! You have done well.”

(v) “Sit down, boys”, said the teacher.

(B) Change the Voice: (10)
(i) Do not make a noise. ‘

(ii) All desire wealth and some acquire it.

(iii) By whom was this jug broken?

(iv) All his friends laughed at him.

(v) People elected him President.

(A): Choose the right options: )

(i) We should criticism. (bier, bear)

(ii) He will a letter. (mail, male)

(iii) He paid me the amount. (Whole, hole)

(iv) He should on hard bed. (lie, lay)

(v) I cannot wear cloth. (coarse, course)

(B): Name the part of speech of every word. 3)
We arranged a grand party.

(C): Use the following in sentences: (10)

(i) By and by (ii) Once in a blue moon (iii) At daggers drawn
(iv) End in smoke  (v) Carry the day.

SECTION - B

What is a précis. Give its characteristics? (20)
Read the following passage and answer the questions given at the end.

In the developing countries everybody who can drive a vehicle or
motorcycle on the roads is called a driver. This concept is entirely different
from the concepts prevailing in the modern world. In Europe and America no
one can drive on the road without passing a proper driving test whereas
majority of drivers in the developing countries neither has driving license nor
complete documents of the vehicle. If you have an approach you can have your
license without appearing in any test. Even public transport like motorcycle
rickshaws are being driven by the boys below eighteen. No individual can
improve the situation except the authorities. They should take such public
safety measures as are essential and can be applied without spending extra
money.

QUESTIONS:

(i) What is the concept of driving in the third world? 3)
(ii) How can people drive in Europe or America? 3)
(iii) How can the situation be improved in the third world? 3)
(iv) Make a précis with a suitable title. (11)
Write an Essay on any ONE of the following topics: (20)
(i) Importance of Technical Education. (ii) Islamic Banking

(iii) The Imports and Exports of Pakistan.  (iv) Internet ---- Uses and Abuses.
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Q.#1:

Q.#6:
Q.#7:

Q.#8:

NOTE: Attempt any FIVE questions. All questions carry equal marks.

What are the main points of distinction between a public and private limited
Company?

What is the cooperative? What are the salient features of a cooperative form of
Organization?

Discuss the main functions of a stock exchange. Does it really promote economic
Growth?

(A) Briefly explain the features of a joint stock company

(B) Narrate the kinds of meetings of joint stock company.

What are different types of business risk and how different types of insurance
provide cover against different types of such business risk?

Define business combination? What are the chief types of business combination?
What is winding up of a company? Discuss the various methods of winding up a
company?

Write note on the following:

1. E-Commerce
1. Promotion
1ii. Channel of distribution

1v. Marine Insurance
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NOTE: Attempt any FIVE questions. Every question carry equal marks.

Q.#1: What is INFLATION also explain its causes and remedies. (20)
Q.#2: Whatis a TRADE CYCLE which are its PHASES and their FEATURE, discuss in

detail. | (20)
Q.#3: “Commercial Banks are the factories of CREDIT MONEY” Analyze the statement

and Explain how? | 20)
Q.#4: “What is BUSINESS FINANCE discuss also ISLAMIC MODES of FINANCING  (20)

in Detail. '
Q.#5: Define monetary policy and discuss its methods or tools. - (20)
Q.#6: Define L.C. and explain its procedures of opening or operation. ' 20)
Q.#7: Explain the MODREN THEORY OF VALUE OF MONEY in detail with the help

of Diagrams and Schedule. (20)
Q.#8: Write a note 611 TWO of the followings: (20)

a. Bank Rate Policy

b. Spot and Forward Exchange Rates
c. Musharika

d. Index Number
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(Islamic Studies )

Q.1: Translate and explain any two of the following verses. 6x2=12, 4x2=8,20)
6 /‘E)L?./'b’uc_ufc:aﬂ(ﬁ;d ils (l/:‘.ulr’
G T 530 254,30 03020 5403 I 55035 2 5 iy

s IR O 00 5l 035 05 0085 T 182 6 e g

=
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"o USRS B3 5 B3 R 40 B 035 2 e i e 38305 ()
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Q.2 Translate and explain any one of the following Ahadith. (6+4=10)
-4_[/6’/‘3:%7“?%4&&4’56» 41’/;}‘)],’
STag ) 3 odilaly JJ Aol &38ah i 10 L il Sy 352536 (ay
Ly TN A (2 N T P U PR A
Q.3 Write down the causes of Migration from Madinah. OR Write down the clauses of Pact of Madinah. (10)
-w"ic«b")d/::.ﬂ)@ L -Uf{«lf’i::x;/? ("f-';d""
Q4 Western civilization is dominant all over the world.State reasons. OR (10)
Give a comparison between Islamic and Western Civilizations.
_ijfr&/,,z;dfwdu/r "] ?Q?QQX;Q@/@J’L‘LJK%ﬁd/"ufg:d/{::’:u“ ("}‘.;U”’
Q.5 Give short answers to any five of the following questions. (5x2=10)

1) Explain word,? 2) Explain Quranic Words Vpomenres § 3) Give four names from ‘3 %, 2

4) Give two signs of J’ L 5) Who was given the title of oA I
6) What is meant by trinity. 7) Mention four characteristics of Islamic Civilization.

wlea B e St fitn §o )
-“éhwt.’o;/‘?d/ I}iﬁé&‘{(gifﬁ;ﬂ;(" -éyu;p(,?ﬁf(l
USSe Fot et L pe 255
e o U (2 e (U B I oL (o

(Ethics - for Non- Muslims )

Note:Attempt any THREE questions. All questions carry equal marks.

:ujd;L»/z"Zq.u.‘f’{:aLb?éaﬂb’J;qubi

Q.#1: Writea comprehensive note on Jewish Ethics. - “ﬁg ;‘d’(‘f lgb{l{o(.‘;t”“ J Wi <57 (20)

Q. #2: What is meant by clash of civilizations? State the reasons of the clash. 20)
. agﬁﬁtf")w’?c‘-;l/“u/c;fﬁdéugﬁ

Q. #3: Justice is very much important for a peaceful society. Quote Quranic Verses for justice. 20)
\ Vé:),.”i(@L@ﬁ.g{?ﬁtdwlg’_éz_};b‘u’lg

Q.#4: Enumerate briefly the famous ten commandments of Torah, _é u.l./j/"??uj c.ui; /"L’ﬁléo'/? (20)

Q. #5: Highlight the rights of Minorities in the light of Islamic Teachings. -ufljﬁz{_d;véukﬁ]uﬁrﬂf” 20)

L]
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